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Please show all work for credit. You may use your notes and graphing calculator for all
questions on the exam. Show all work for credit. Your cell phone should be turned off

and not on your desk at any time of the exam.

1. Satellite Dish. A satellite dish measures 100 feet across its opening and 30 feet deep
at its center. The receiver shouid be piaced at the focus of the paraboiic dish. Where is
the focus? The focus is | | feet away from the vertex of the satellite dish.
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@ 2. Find the center, vertices, foci, and graph 25x2 + y? + 150x — 8y + 216 = 0
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@3. Find the center, vertices, foci, asymptotes, and graph (xj)z o (y:;)z =1 ,
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